euS
A21K

CEPUA
TexHnueckas cneundukauyms / Technical Specifications

[wnana3oH TemnepaTyp / Temperature Range
-20°C +100°C (-4°F +212°F)

Pa6ouee gaBneHue / Working Pressure
0-306ap (0-435PSI)

MpoTok / Flow Capacity
NW 5

CraHpapTHas Bepcua / Standard Version
JNaTtyHb / Brass
Mpoknagku HuTpun NBR / Nitrile (NBR)

Marepwan / Material
Kopyc myoTbl / Coupler Bod  : HukennpoBaHHasA naTyHb
Brass Nickel Plated
3apgHAA vacTb/ Back Part  : HukennpoBaHHasA naTyHb
Brass Nickel Plated
: HukenuposaHHasn naTyHb
Brass Nickel Plated
:JlaTyHb / Brass
: Hepkasetowana ctanb
Stainless Steel
Oukcnpyto konbLo / Locking Ring : HepxaBelowan ctanb
Stainless Steel
: HepxkaBetowas ctanb
Stainless Steel
:Hutpwnn NBR / Nitrile (NBR)
: HukenuposaHHasn natyHb
Brass Chrome Plated

Brynka / Sleeve

Knanan / Valve
Mpy>nHbl / Springs

LWapwukn / Balls

Mpoknagku / Seals
Hunnens/ Plug

Onuwmn / Options

XpommpoBaHue / Chrome Plated
HukennposaHue / Chemical Nickel Plated
Hep:aBetowwasn cranb / Stainless Steel
Mpoknagku u3 ButoHa / Viton Seal

O6nacTtb NpMeHeHus:

« Kncnopog, yrnekucnbiin ras, nponat,
NPUPOAHDIN ras 1 gpyrue rasbl

« BoicTpopasbemHble coeguHeHnsa (BPC) mydTa-Hunnens
MIMeIOT YeTblpe pasfinyHble ceYeHus (BHeLLHe pa3fimyaTcs
no uBeTam), YTobbl NPeAoTBPATUTL HENpPaBUIIbHOE
coeAuHeHVe 1 Nofayy, Hanprmep,
NEerkoBOCMIaMeHSIOLWKMXCA razamu.
CncteMa NpefoxpaHUTesibHOM 6OKMPOBKNA.

Using Area

- Oxygen, carbon dioxide, propane,
natural gas and other gases

« Quick coplings are used for the
connection of seven different fluids without
mixin each other with key system. Also
safety locking system will protect unlocking
position of the couplings after locking.

BbICTPOCBHEMHbBIE COEAVIHEHWA BPC  Nff Biics

ﬂ t.uuﬂuw“g
 E 4 g )
11 F

»
=
A

S
s ),

o —
NN {
e
Ce—
N
o
e

P

\

———

3enéHblii
Green

KopunyHeBbin
Brown

228 000 “BUBTEX" 127254, Mocksa, yn. PyctaBenu 1, 14, cTp. 6; Ten./dakc+7 (495) 755-91-45

www.vivtech.ru

www.shop.vivtech.ru

info@vivtech.ru



BUBTEX
vivtech

\Y//

BbICTPOCBEMHbIE COEAVHEHWA BPC

@S

A21K

CEPUA
Hunnenb nog wnawnr / Hose Plugs
‘ 3enéHblit KopunuHeBbii CuHmin . KpacHblit
Green Brown Blue Red d L
L ApTrKyn ApTukyn ApTrKyn ApTrKyn
Order No Order No Order No Order No
° A21 HR 004 A21 HR 304 A21 HR 604 A21 HR 804 4-1/6" 49
A21 HR 006 A21 HR 306 A21 HR 606 A21 HR 806 6-1/4" 49
Hunnenb ana nnactMaccoBbix wnaHros / Hose Tail Socket
. 3enéHbiin KopuuHesbiii CrHWi . KpacHblit
Green Brown Blue Red
d L SW
L ApTrKyn ApTukyn ApTrKyn ApTrKyn
Order No Order No Order No Order No
A21 PR 004 A21 PR 304 A21 PR 604 A21PR804 |4x6 M10x1 43 12
§- A21 PR 006 A21 PR 306 A21 PR 606 A21PR806 |6x8 M12x1 43 14
sw,
Hunnenb Ana nnacTMaccoBbIX LWAHTOB 1 MAaHeNIbHOro MoHTaXa / Hose Tail Socket
3enéHblii K 7 G n K| 7
@ AN N @ S . ) oW
L ApTrKyn ApTukyn ApTUKyn ApTrKyn
Order No Order No Order No Order No
A21 MR 004 A21 MR304 | A21 MR604 | A21 MR804 | 4x6 M10x1 63 17
§- A21 MR 006 A21 MR 306 | A21 MR606 | A21 MR806 |6x8 M12x1 63 17
sw,
Hvnnenb c BHewHel pe3bboii / Male Plugs
3enéHbliA Kah! i CunHui K| 7
e = A @ @ = NGRS
L ApTUKYN ApTukyn ApTrKyn ApTrKyn
— Order No Order No Order No Order No
§_ _CL A21 ER 004 A21 ER 304 A21 ER 604 A21 ER 804 BSP 1/8" 40 17
| A21 ER 006 A21 ER 306 A21 ER 606 A21 ER 806 BSP 1/4" 42 17
M
Hunnenb ¢ BHyTpeHHel pe3bboii / Female Plugs
3enéHbii Kah i K| 7
B A @ g ) oW
L ApTUKyn ApTuKyn ApTUKyn ApTrKyn
Order No Order No Order No Order No
% 1'; A21 DR 004 A21 DR 304 A21 DR 604 A21 DR 804 BSP 1/8" 39 17
: A21 DR 006 A21 DR 306 A21 DR 606 A21 DR 806 BSP 1/4” 39 17
sw;
000"BWBTEX"127254, Mockga, yn. Pyctasenn p, 14, ctp. 6; Ten./dakc+7 (495) 755-91-45 229

www.vivtech.ru

www.shop.vivtech.ru

info@vivtech.ru




® .. -
BHBTCX
@OS  BbICTPOCBHEMHbBIE COEQVIHEHUS BPC  Nfuf biicx
CEPVA
MydTa c BHewHein pesbboit / Male Thread Socket
@ =X ANTE S @ B ; O A
ApTukyn ApTrKyn ApTukyn ApTrKyn
I Order No Order No Order No Order No
;jr A21EGB 010 | A21 EGB310 | A21 EGB610 | A21 EGB 810 | BSP 1/8” 16 47 14
J_== A21EGBO13 | A21 EGB313 | A21 EGB613 | A21 EGB 813 | BSP 1/4” 16 47 17
sw;
S ; ‘\?‘z‘
MydTa c BHyTpeHHel pe3bboii / Female Thread Socket
@ AT N @ B g g | L aw
ApTukyn ApTrKyn ApTukyn ApTrKyn
Order No Order No Order No Order No
A21DGB 010 | A21 DGB310 | A21 DGB 610 | A21 DGB 810 |BSP 1/8"| 16 47 14
A21DGB 013 | A21 DGB 313 | A21 DGB 613 | A21 DGB 813 | BSP 1/4” 16 47 17
Mydrta nop wnaHr / Hose Tail Socket
. 3enéHbiin KopuuHeBbii C|I/IHI/II7I . KpacHbiit
Green Brown Blue Red
d di L SW
ApTukyn ApTrKyn ApTukyn ApTrKyn
Order No Order No Order No Order No
A21HGB 004 | A21 HGB 304 | A21 HGB 604 | A21 HGB 804 | 4-1/8" 16 69 14
A21 HGB 006 | A21 HGB 306 | A21 HGB 606 | A21 HGB 806 | 6-1/4" 16 69 14
A21 HGB 008 | A21 HGB 308 | A21 HGB 608 | A21 HGB 808 | 8-5/16" 16 69 14
A21 HGB 009 | A21 HGB 309 | A21 HGB 609 | A21 HGB 809 | 9-5/14" 16 69 14
A21HGB 010 | A21 HGB 310 | A21 HGB 610 | A21 HGB 810 | 10-3/8" 16 69 14
MydTa ana nnactmaccosbix WwnaHros / Plastic Hose Coupling
@ & AT @ 5 @ O I R
ApTUKyn ApTrKyn ApTukyn ApTrKyn
Order No Order No Order No Order No
A21 PGB 004 | A21 PGB 304 | A21 PGB 604 | A21 PGB 804 |4x6 M10x1| 16 51 14
A21 PGB 006 | A21 PGB 306 | A21 PGB 606 | A21 PGB 806 |6x8 M12x1| 16 51 14
d
MydTa ana nnacTMaccoBbIX WNAHTOB 1 MaHeIbHOro MoHTaxa / Panel Mount Plastic Hose Coupling
@ AL @ S @ B . g || sw
ApTukyn ApTrKyn ApTukyn ApTrKyn
l Order No Order No Order No Order No
o A21 MGB 004 | A21 MGB 304 | A21 MGB 604 | A21 MGB 804 | 4 - M10x1 16 69 14
d I A21 MGB 005 | A21 MGB 305 | A21 MGB 605 | A21 MGB 805 | 5 - M12x1 16 69 14
sw A21 MGB 006 | A21 MGB 306 | A21 MGB 606 | A21 MGB 806 | 6 - M12x1 16 69 14
A21 MGB 008 | A21 MGB 308 | A21 MGB 608 | A21 MGB 808 | 8 - M12x1 16 69 14

N
w
o

000"BWBTEX" 127254, MockBa, yn. Pyctasenu g, 14, cTp. 6; Ten./dakc+7 (495) 755-91-45

www.vivtech.ru

www.shop.vivtech.ru

info@vivtech.ru






